Fill in the missing numbers.
7, 10, 13, ____, 19		20, 16, 12, ____ , 4		29, 27, 25, ____, 21

Draw tens and ones to work out the answers.
28 - 13 =		35 - 11 =		27 - 12 =		38 - 14 =

37 - 24 =		27 - 16 =		38 - 25 =		46 - 23 =

45 - 34 =		47 - 31 =		56 - 35 =		68 - 15 =

Use the exchange method to work out the answers.
30 - 12 =		30  - 16 =		40 - 11 =		50 - 13 =

Solve the subtraction problems.
There were 28 people on the bus. 13 people got off. How many people are on the bus now?



Jim had 36 sweets. He ate 15 of them. How many sweets did Jim have left?



Martin had 46 pence. He spent 25 pence on a pencil. How much money did Martin have left?



There were 58 apples on the tree. 26 of the apples were blown down in a storm. How many apples are there left on the tree?
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